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1. Jawaharlal Nehru National Solar Mission or Solar India has been launched to create an 

installed capacity of 2000 MW by the end of— 

(A) 13th Plan 

(B) 14th Plan 

(C) 15th Plan 

(D) 16th Plan 

Ans : (A) 

 

2. Bollywood actors who, on February 2, 2010 rang bells in NASDAQ on Time Square, 

New York—an honour usually reserved for CEOs of major corporations, are— 

(A) Amir Khan and Priyanka Chopra 

(B) Shah Rukh Khan and Kajol 

(C) Abhishek Bachchan and Aswarya 

(D) Saif Ali Khan and Kareena Kapoor 

Ans : (B) 

 

3. The term ‘16 yards hit’ is associated with— 

(A) Badminton 

(B) Baseball 

(C) Polo 

(D) Hockey 

Ans : (D) 

 

4. The vital constituent of blood that helps in clotting is— 

(A) Platelets 

(B) Haemoglobin 

(C) Plasma 

(D) Serum 

Ans : (A) 

 

5. Which of the following animals can hear ultrasonic sound ? 

(A) Cat 

(B) Rat 

(C) Bat 

(D) Squirrel 

Ans : (C) 

 

 

6. The acid rain destroys vegetations because it contains— 

(A) Sulphuric acid 

(B) Ozone 

(C) Carbon monoxide 

(D) Nitric acid 

Ans : (A) 

 

7. Man Booker Prize winner Ms. Kiran Desai’s novel, ‘The Inheritance of Loss’ deals 



with— 

(A) Telangana movement 

(B) Santhal movement 

(C) Gorkhaland movement 

(D) Bodoland movement 

Ans : (C) 

 

8. GARC is the acronym for— 

(A) Global Automotive Research Consortium 

(B) Global Atomic Research Consortium 

(C) Global Automotive Research Centre 

(D) Global Advancement Research Centre 

Ans : (C) 

 

9. The largest fresh water lake, ‘Lake Superior’ is located in— 

(A) Canada 

(B) Russia 

(C) Tanzania 

(D) Argentina 

Ans : (A) 

 

10. In which State of India is the largest river island Majuli ? 

(A) Assam 

(B) Kolkata 

(C) Orissa 

(D) M.P. 

Ans : (A) 

 

11. Match the following— 

(a) Berlin, Germany 

(b) Ankara, Turkey 

(c) Bristol, UK 

(d) Budapest, Hungary 

1. Danube 

2. Kizil 

3. Spree 

4. Avon 

Codes : 
(a) (b) (c) (d) 

(A) 2 1 4 3 

(B) 4 3 1 2 

(C) 1 4 2 3 

(D) 3 2 4 1 

Ans : (D) 

 

12. Government’s ambitious UID Project has been renamed— 

(A) Parichaya 

(B) Pahchan 

(C) Aadhar 

(D) Aanklan 

Ans : (C) 

 



13. Who is the author of the book ‘Speaking for Myself’ ? 

(A) Salman Rushdie 

(B) Cherie Blair 

(C) Mohammad Hanif 

(D) Hillary Clinton 

Ans : (B) 

 

14. The name of India’s first homebuilt stealth warship whose features reduce the 

probability of being detected at sea is— 

(A) Sahyadiri 

(B) Satpura 

(C) Shivalik 

(D) Shivaji 

Ans : (C) 

 

15. Which country will host the 17th SAARC summit ? 

(A) Bangladesh 

(B) Nepal 

(C) Shri Lanka 

(D) Maldives 

Ans : (D) 

 

16. India’s Prime Minister Manmohan Singh is seated at the ……… spot in the leaders’ 

list of 100 most influential persons of the world realeased by the famous Time Magazine 

recently. 

(A) 15 

(B) 19 

(C) 23 

(D) 27 

Ans : (B) 

 

17. The Islam was established in— 

(A) 5th A.D. 

(B) 7th A.D. 

(C) 3rd B.C. 

(D) 5th B.C. 

Ans : (B) 

 

18. Which part of the human body is highly affected by the nuclear radiation first ? 

(A) Bone marrow 

(B) Skin 

(C) Lungs 

(D) Eyes 

Ans : (B) 

 

19. Who invented the video-tape ? 

(A) Charles Ginsberg 

(B) Georges de Mestral 

(C) Richard James 

(D) P. T. Farnsworth 

Ans : (A) 

 



20. Match the following— 

(a) NH–1 

(b) NH–3 

(c) NH–5 

(d) NH–7 

1. Varanasi–Kanyakumari 

2. Kolkata–Chennai 

3. New Delhi–Amritsar 

4. Agra–Mumbai 

Codes : 
(a) (b) (c) (d) 

(A) 2 1 4 3 

(B) 3 4 2 1 

(C) 4 3 1 2 

(D) 1 3 4 2 

Ans : (B)  

United India Insurance AO Exam (Held On 24-05-2009)  

 

Reasoning Ability  

 

Directions—(Q. 1—5) In the following questions, the symbols +, -,x 

÷ and = are used with the following meanings 

A + B means A is greater than B; 

A – B means A is greater than or equal to B; 

A x B means A is equal to B; 

A ÷ B means A is smaller than B; and 

A = B means A is smaller than or equal to B. 

For each question you have to assume given statements to be true and then decide which 

of the two given conclusions is are definitely true. Give answer 

(A) If only conclusion I is true; 

(B) If only conclusion II is true; 

(C) If either conclusion I or conclusion II is true; and 

(D) If neither conclusion I nor conclusion II is true. 

1. Statements: 

D=S, N + V, D x R, R + V 

Conclusions: I. S + V 

II D+N 

2. Statements: 

K x P, M + J, C÷ P, K = M 

Conclusions: I. M + P 

II. M x P  

3. Statements: 

L – R, N x M, L ÷ M, N = P 

Conclusions: I. M + R 

II. R+P 

4.Statements: 

W + K, S = Z, X – W, S x K 

Conclusions: I. K x Z 

II. X÷K 



5. Statements: 

P ÷ Q, W – N, P — N, T + W 

Conclusions: I. P x W 

II. Q÷W 

Directions—(Q. 6—10) There are two or three statements followed by four conclusions 

numbered I, II , III and IV. Take the given statements to be true even if they seem to be at 

variance with commonly known facts and then decide which of the given conclusions 

logically follow(s) . 

6. Statements: 

Some songs are throngs. 

Some throngs are longs. 

Conclusions: 

I. Some songs are longs. 

II. No songs are longs. 

III. Only longs are songs. 

IV Only songs are longs. 

(A) Only I Follows 

(B) Only III follows 

(C) Either I or II follows 

(D) Either III or IV follows 

7. Statements: 

Some charts are darts. 

All darts are carts. 

Some carts are smarts. 

Conclusions: 

I. Some charts are carts. 

II. Some carts are darts. 

Ill. Some darts are smarts. 

IV. Some smarts are charts. 

(A) Only I and II follow 

(B) Only I and III follow 

(C) Only II and III follow 

(D) Only I, III and IV follow 

8. Statements: 

All blanks are beams. 

All bridges are beams. 

All bridges are cows. 

Conclusions: 

I. Some cows are beams. 

II. Some blanks are cows. 

III. Some blanks are bridges. 

IV. Some bridges are not cows. 

(A) Only I follows 

(B) Only II follows 

(C) I,II and III follow 

(D) None follow 

 

9. Statements: 

Some Chinese are not Russians. 

All Russians are Africans. 

Some Africans are Indians. 

Conclusions: 



I. Some Chinese are not Africans. 

II. Some Chinese are not Indians. 

Ill. All Russians are Indians. 

IV. Some Indians are Chinese. 

(A) Only II follows 

(B) Only III follows 

(C) Only IV follows 

(D) Either II or IV follows 

10. Statements: 

All chalks are cheese. 

No cheese are ships. 

Some herds are ships. 

Conclusions: 

I. Some herds are not chalks. 

II. Some herds are cheese. 

Ill. Some cheese are not herds. 

IV. No chalk is a ship. 

(A) I, II and IV follow 

(B) Either II or III and IV follows 

(C) II and III follow 

(D) II and IV follow 

Directions—(Q. 11—15) A word arrangement machine, when given a particular input, 

rearranges it following a particular logic. The following is the illustration of the input and 

the steps of arrangement? 

Input: CRI END YAM STU THE 

StepI:YAM THE CRI END STE 

StepII:YAM THE STE END CRI 

Step III:STU CRI YAM THE END 

Step IV;STU CRI END THE YAM 

Study the logic and answer questions 

11. If step VII of an input is ‘OVER THE PRE NEW BONE’ what is 

the step IV of that input? 

(A) BONE THE PRE OVERNEW 

(B) THE PRE BONE NEW OVER 

(C) THE BONE PRE OVER NEW 

(D) PRE BONE THE OVER NEW 

12. Given the following input— SYM REACH LAD PHOTO CAL 

what step will the following arrangement? 

REACH LAD PHOTO SYM CAL 

(A) VI 

(B) V 

(C) IV 

(D) III 

13. If Step VI of a given input be ‘MAP IND PAK RUS ENG’, what would be the input? 

(A) IND MAP PAK RUS ENG 

(B) IND MAP ENG RUS PAK 

(C) ENG RUS IND PAK MAP 

(D) RUS MAP IND ENG PAK 

14. Given the following input, what would be Step VIII of the input? 

Input : BANK CRIS ATTRACT WITH PRIZE 

(A) PRIZE WITH CRIS ATTRACT BANK 

(B) CRIS BANK PRIZE WITH ATTRACT 



(C) PRIZE WITH BANK ATTRACT CRIS 

(D) CR15 BANK ATTRACT WITH PRIZE 

15. In which step will we get the same arrangement as the input? 

(A) VIII 

(B) IX 

(C)X 

(D)XI 

Directions—(Q. 16—20) In each question below is given a statement followed by three 

assumptions numbered I II and III. You have to consider the statement and the 

assumption, and decide which of the assumptions is implicit in the statement. 

Then decide which one of the answers, (A), (B), (C) and (D) is correct. 

16. Statement : Considering the tickets sold during the last seven days, the circus 

authorities decided to continue the show for another fortnight which includes two 

weekends. 

Assumptions: 

I. People may not turn up on weekdays. 

II. The average number of people who will be visiting circus will be more or less the 

same as that of the last seven days. 

III. There may not be enough responses at other places. 

(A) None is implicit 

(B) Only II is implicit 

(C) Both I and II are implicit 

(D) Only III is implicit 

17. Statement : The telephone company informed the subscribers through a notification 

that those who do not pay their bills by the due date will be charged penalty for every 

defaulting day. 

Assumptions: 

I. Majority of the people may pay their bills by the due date to avoid penalty. 

II. The money collected as penalty may set off the losses due to delayed payment. 

III. People generally pay heed to such notices. 

(A) Only I and II are implicit 

(B) Only II and III are implicit 

(C) Only I and III are implicit 

(D) All are implicit 

18. Statement The national air carrier has decided to start a weekly air service from town 

‘A’ to town ‘B’. 

Assumptions: 

I. There will be enough passengers to make the operation economically viable. 

II. Other carriers may not start such service. 

III The people staying around these towns can afford the cost of air travel. 

(A) Only I is implicit 

(B) Both II and III are implicit 

(C) Both I and II are implicit 

(D) ALL are implicit 

19. Statement : A group of friends decided to go for a picnic to Dum Duma Lake during 

the next holiday season to avoid crowd of people. 

Assumptions: 

I. Generally many people do not go to Dum Duma Lake. 

II. People prefer other spots to Dum Duma Lake. 

III. Many people do not know about Dum Duma Lake. 

(A) Only I is implicit 

(B) Only II is implicit 



(C) Only I and II are implicit 

(D) All are implicit 

20. Statement : “Wanted a two bedroom flat in the court area for immediate 

possession”—Advertisement. 

Assumptions: 

I. Flats are available in court 

II. Some people will respond to the advertisement. 

Ill. It is a practice to give such an advertisement. 

(A) Only I and II are implicit 

(B) Only II is implicit 

(C) Only III is implicit 

(D) All are implicit 

21. pq—rqp—qrrq—p—rrqpp—r 

(A) rqpqr 

(B) qprrq 

(C) qrprp 

(D) rppqq 

22. nnt—qqn—tt—qnn—tq-. 

(A) nnqtq 

(B) qntnq 

(C) tnqtq 

(D) ttqtq 

Directions(Q. 23 and 24) 

P + Q means P is the brother of Q 

P – Q means P is the sister of Q 

P x Q means P is the father of Q 

P ÷ Q means P is the mother of 

Q. 

23. A÷B-C x D, 

then A is D 

(A) Sister 

(B) Aunt 

(C) Mother 

(D) Grandmother 

24. Which of the following shows that V is the grandmother of Y? 

(A) VxR+KVY 

(B) V÷RxK-Y 

(C) V÷R+KxY 

(D) VxR-K÷Y 

25. How many pairs of letters are there in the word STRAIGHT FORWARD which have 

numbers of letters between them in the word equal to the number of letters between them 

in English alphabet? 

(A)4 

(B)5 

(C)6 

(D)7 

26. Milk: Butter 

(A) Banana : Fruit 

(B) Juice : Health 

(C) Wood: Paper 

(D) Chili Spices 

27. Hat : Headwear 



(A) Shark : Fish 

(B) Crocodile : Terrapin 

(C) Shoe : Socks 

(D) Glove: Hand 

28. Horse : Cow 

(A) Milk: Ice-cream 

(B) Mars : Moon 

(C) Snow : Water 

(D) Pink: Blue 

29. Hair : Head 

(A) Teeth : Mouth 

(B) Tea-leaves : Mountain slopes 

(C) Hand: Arm 

(D) Footpath : Road 

30. Fore: Hind 

(A) Sky:Space 

(B) Land:Sea 

(C) North : South 

(D) Face:Neck 

Directions—(Q. 31—35) Read the following information to answer the questions— A, B, 

C, D and E are sons of P, Q ,R, S and T but not in the same order. 

Match the right mother and son on the basis of the information given below— 

Q is not B’s or C mother. 

A’s or Es mother is not T. 

C is not R’s son. 

E is not Q’s or S’s son and his mother’s name does not start with the letter ‘R’. 

A’s mother is not Q or R 

31. Who is S’s son? 

(A)A 

(B)B 

(C)C 

(D)D 

32. Who is C mother? 

(A)P 

(B)R 

(C)S 

(D)T 

33. Who is Q’s son? 

(A)A 

(B)D 

(C)B 

(D)E 

34. Who is P’s son? 

(A)B 

(B)C 

(C)D 

(D)E 

35. Who is son of R ? 

(A)E 

(B)A 

(C)B 

(D)D 



Lflrections—(Q. 36-40) In each of the following number series, two terms are put within 

brackets. Mark in the answer-sheet— 

(A) If both the bracketed terms are right; 

(B) If the first bracketed term is right and second is wrong; 

(C) If the first bracketed term is wrong and second is right; 

(D) If both the bracketed terms are wrong. 

36. 5, 17, (30), 73, 129, (225) 

37. 11, 29, (55), 89, (131), 181 

38. 3, 12, 28, 32, (42), (57), 61, 70, 86 

39. 2,3,6, (11), 18, (27), 38 

40. 4, 14, (18), (24), 31, 36, 38, 48, 53 

Directions—(Q. 41-45 )Choose the odd one. 

41. 

(A) YNHIA 

(B) SGRFI 

(C) ISEPU 

(D) FHUJU 

42. 

(A) PROUD 

(B) DRIVER 

(C) WHEAT 

(D) TRAIN 

43. 

(A) CXHIA 

(B) RCFCL 

(C) MTOWF 

(D) CPRSV 

44. 

(A) JOT 

(B) OUT 

(C) TEN 

(D)DIN 

45. (A) HR 

(B) GT 

(C) KP 

(D) FU 

Directions—(Q. 46-49) Read the following information and answer the questions given 

below it. If ranks of five candidates P, Q ,R S and T are arranged in ascending order of 

their marks in Numerical Ability, T is the fourth and S is the first. When they are 

arranged in the ascending order of marks in General Awareness, P takes the place of T 

and T takes the place of Q. R’s position remains the same in both the arrangements. Q’s 

marks are lowest in one test and highest in the other test. P has more marks than R in 

Numerical Ability. 

46. Who has secured the highest marks in General Awareness? 

(A)Q 

(B)T 

(C)S 

(D)R 

47. Who has secured the highest marks in Numerical Ability? 

(A)S 

(B)R 

(C)P 



(D)Q 

48. Which of the following groups of candidates has improvement in rank in General 

Awareness as compared to that in Numerical Ability? 

(A) SPT 

(B) PSR 

(C) QST 

(D) SPQ 

49. Whose marks in General Awareness are more than R’s marks in General Awareness? 

(A) Only P’s 

(B)P’s, Q’s and S’s 

(C) P’s, S’s and T’s 

(D) P’s, Q’s and T’s 

50. In a certain code CAMEL is written as XPOGT and RABBITS as YPUULFZ. How 

can AIRMAIL be written in that code? 

(A) PIYOPLT 

(B) PLYOPTL 

(C) PLROPLT 

(D) PLYOPLT 

Answers: 

1 A 

2 C 

3 A 

4 B 

5 D 

6 C 

7 A 

8 D 

9 D 

10 B 

11 C 

12 B 

13 D 

14 C 

15 C 

16 B 

17 D 

18 C 

19 D 

20 A 

21 D 

22 C 

23 D 

24 B 



25 C 

26 C 

27 D 

28 B 

29 A 

30 C 

31 A 

32 D 

33 B 

34 D 

35 C 

36 C 

37 A 

38 C 

39 A 

40 D 

41 D 

42 B 

43 C 

44 B 

45 A 

46 B 

47 D 

48 A 

49 C 

50 D 

 

 

United India Insurance Co. Administrative Officers Exam., 2009 

(Held on 24-5-2009) 

General Knowledge and Current Affairs : Solved Paper 

 

 

1. What is Siam now known as ? 

(A) Laos 

(B) Thailand 

(C) Vietnam 

(D) Cambodia 

Ans : (B) 

 



2. The correct group of cities, through which National Highway No. 8 passes is— 

(A) Bikaner, Ajmer, Kota 

(B) Jodhpur, Jaipur, Bikaner 

(C) Jaipur, Udaipur, Ahmedabad 

(D) Jaipur, Pune, Udaipur 

Ans : (C) 

 

3. Through its power of judicial review, the Supreme Court ensures— 

(A) Judicial Supremacy 

(B) A democrtic government in the country 

(C) A constitutional government in the country 

(D) That Parliament Sovereignty is curbed 

Ans : (D) 

 

 

4. Which unit of valuation is known as ‘Paper Gold’ ? 

(A) Petrodollar 

(B) SDR 

(C) Eurodollar 

(D) GDR 

Ans : (B) 

 

5. What is the playing time of the full version of the Indian National Anthem ? 

(A) 47 seconds 

(B) 50 seconds 

(C) 52 seconds 

(D) 60 seconds 

Ans : (C) 

 

6. When was Barack Obama sworn in as the 44th President of U.S.A. ? 

(A) January 15, 2009 

(B) January 20, 2009 

(C) January 25, 2009 

(D) January 30, 2009 

Ans : (B) 

 

7. The Movie ‘Slumdog Millionaire’ is based on a novel ‘Q and A’ written by an 

Indian— 

(A) Khuswant Singh 

(B) Khalid Mohammad 

(C) Sabarjit Singh 

(D) Vikas Swarup 

Ans : (D) 

 

8. Who has been appointed the first Director-General of the ‘National Investigation 

Agency (NIA)’ ? 

(A) P. S. Sharma 

(B) A. Gopalswami 

(C) Radha Vinod Raju 

(D) K. C. Verma 

Ans : (C) 

 



9. Under which Article of the Indian Constitution, can the President of India withhold his 

assent to a Bill passed by both the houses of Parliament ? 

(A) Article, 100 

(B) Article, 111 

(C) Article, 200 

(D) Article, 222 

Ans : (B) 

 

10. Which language is spoken by the people of Tripura ? 

(A) Bengali 

(B) Telugu 

(C) Assamese 

(D) Malayalam 

Ans : (A) 

 

11. Surya Shekhar Ganguly is a player of— 

(A) Chess 

(B) Cricket 

(C) Golf 

(D) Hockey 

Ans : (A) 

 

12. We very frequently read about Special Economic Zones (SEZs) in newspapers. These 

SEZs were established with which of the following objectives ? 

1. To protect domestic market from direct competition from multinationals 

2. To provide more capital to agricultural and allied activities 

3. To attract foreign investment directly 

(A) Only 1 

(B) Only 2 

(C) Only 3 

(D) 1, 2 and 3 all 

Ans : (C) 

 

13. With which is ‘Uro Cup’ associated ? 

(A) Cricket 

(B) Football 

(C) Polo 

(D) Wrestling 

Ans : (B) 

 

14. World Environment Day is on— 

(A) June, 5 

(B) June, 11 

(C) June, 17 

(D) June, 30 

Ans : (A) 

 

15. Which rock-shelter in India bears largest number of paintings ? 

(A) Adamgarh 

(B) Bhimbetka 

(C) Ghagharia 

(D) Lekhia 



Ans : (B) 

 

16. Heat received by earth from the sun is known as— 

(A) Isolation 

(B) Solar heat 

(C) Solar radiation 

(D) Thermal radiation 

Ans : (A) 

 

17. Who invented Coronograph which allowed the study of the sun without waiting for a 

total solar eclipse ? 

(A) Donald Menzel 

(B) Pierre Jenseen 

(C) John Evershed 

(D) Bernard Lyot 

Ans : (D) 

 

18. Who wrote ‘The Structure of the Universe’, giving in detail the origin of the universe 

and its present status, among other things ? 

(A) Robert Jastrow 

(B) S. Chandrashekhar 

(C) Jayant V. Narlikar 

(D) Carl Sagan 

Ans : (C) 

 

19. Name the Sri Lankan town which has been the Tamil Tiger’s administrative and 

political headquarters and has been captured by the army recently ? 

(A) Kandy 

(B) Jaffana 

(C) Kilinochchi 

(D) Mullaithivu 

Ans : (C) 

 

20. Which committee recommended abolition of tax rebates under Section, 88 ? 

(A) Kelkar Committee 

(B) Rangarajan Committee 

(C) Chelliah Committee 

(D) Shome Committee 

Ans : (D) 


